



B.Com. DEGREE EXAMINATION – 
JULY 2008.

Accounting and Finance

First Year

FINANCIAL ACCOUNTING

Time : 3 hours
Maximum marks : 75

PART A — (3 × 5 = 15 marks)

Answer any THREE questions.

1. Explain the concepts of Double Entry System.

Cµmøh¨ £vÄ ¬øÓ°ß P¸zxUPøÍ ÂÍUS.

2. What is Bill of Exchange? Explain its advantages.

©õØÖa^mk GßÓõÀ GßÚ? Auß {ßø©PøÍ ÂÍUS.

3. How profits calculated under Single Entry System?

JØøÓ¨£vÄ ¬øÓ°À GÆÁõÖ C»õ£zøu PnUQkÁõ´?

4. Define Joint Venture. What are its advantages?

CønÂøÚ°ß C»UPn® u¸P. Auß {ßø©PÒ ¯õøÁ?

5. What do you mean by branch accounting? 
What are its purpose?

QøÍ PnUQ¯À £ØÔ }Âº AÔÁx ¯õx? Auß ÷uøÁPÒ ¯õøÁ?

PART B — (4 ( 15 = 60 marks)

Answer any FOUR questions. 

6. From the following Trial Balance prepare a Trading and Profit and Loss Account for the year ended 31.12.2007 and a Balance sheet on that date :

Trial Balance

	
	Dr.
	
	Cr.

	
	Rs.
	
	Rs.

	Capital
	—
	
	4,250

	Drawings
	710
	
	—

	Plant and Machinery
	950
	
	—

	Stock on 1st January
	1,460
	
	—

	Purchase and Sales
	10,362
	
	11,906

	Purchases and Sales Returns
	210
	
	291

	General Expenses
	440
	
	—

	Rent
	120
	
	—

	Salaries
	200
	
	—

	Apprentice premium
	—
	
	80

	Bank overdrafts
	—
	
	240

	Bad debts
	172
	
	—

	Debtors and Creditors
	4,200
	
	2,000

	Cash on hand
	48
	
	—

	Bad debts reserve
	—
	
	105

	
	18,872
	
	18,872


Make provision for the following :

(a)
Depreciate plant and machinery at 10% p.a.

(b)
Increase bad debts reserve to 5% on 
sundry debtors.

(c)
Rent accrued is Rs. 40.

(d)
Salaries of Rs. 80 are paid in advance.

(e)
Stock on hand as on 31st December is 
Rs. 1,700.

(f)
Apprentice premium received in advance is Rs. 20.

RÌUPõq® C¸¨£õ´Â¼¸¢x 31.12.2007 ¬i¯ Â¯õ£õµ ©ØÖ® C»õ£ {mhU PnUS® AßøÓ¯ ÷uv°À C¸¨¦ |ø»U SÔ¨ø£²® u¯õº ö\´P. 

	C¸¨£õ´Ä
	£ØÖ
	
	ÁµÄ

	
	¹.
	
	¹.

	¬uÀ
	—
	
	4,250

	Gk¨¦
	710
	
	—

	ö£õÔ ©ØÖ® C¯¢vµ®
	950
	
	—

	áüß 1À \µUQ¸¨¦
	1,460
	
	—

	öPõÒ¬uÀ ©ØÖ® ÂØ£øÚ
	10,362
	
	11,906

	öPõÒ¬uÀ ©ØÖ® ÂØ£øÚ 
  v¸¨£[PÒ
	210
	
	291

	ö£õxa ö\»ÄPÒ
	440
	
	—

	ÁõhøP
	120
	
	—

	\®£Í®
	200
	
	—

	£ÇS{º ¬øÚ©®
	—
	
	80

	Á[Q ÷©À Áøµ¨ £ØÖ
	—
	
	240

	ÁµõUPhß
	172
	
	—

	PhÚõÎPÒ ©ØÖ® PhÜ¢÷uõºPÒ
	4,200
	
	2,000

	øP°¸¨¦ öµõUP®
	48
	
	—

	ÁµõUPhß Põ¨¦
	—
	
	105

	
	18,872
	
	18,872


RÌUPõq® \¶UPmhÀPÒ ö\´P :

(A)
ö£õÔ ©ØÖ® C¯¢vµzvß «x Bsk ÷u´©õÚ® 10% Â»UPÄ®.
(B)
PhÚõÎPÒ «x 5% ÁµõUPhß JxUS AvP¶UPÄ®.
(C)
÷\º¢xÒÍ ÁõhøP ¹. 40.

(D)
\®£Í® ¹. 80 ¬ßTmi ö\¾zv¯x.
(E)
i\®£º 31, AßøÓ¯ \µUQ¸¨¦ ¹. 1,700.

(F)
£ÇS{º ¬øÚ©® ¹. 20 ¬ßTmi ö£ØÓx.
7. X draws a bills for Rs. 10,000 and Y accepts the same for the mutual accommodation to the extent of 
X 1/2 and and Y 1/2. X discounts the same for Rs. 9,900 and remits the 1/2 of the proceeds to Y. Before the due date Y draws a bill for Rs. 20,000 on X, X accepts the same. Y discounts the bill for Rs. 19,800 with the help of which first bill is met and Rs. 4,900 remitted to X. Before the due date of the second bill, X becomes bankrupt and Y receives a dividend of 50 paise in the rupee in full satisfaction.

Pass journal entries in the books of X and Y.

X Áøµ¢u  ©õØÖa^møh, R Gß£Áº, C¸Á¸US® 1/2 ©ØÖ® 1/2 ¬øÓ°À, £n Á\vUPõP ¹. 10,000US HØÖz u¸QÓõº. X AuøÚ ¹. 9,900US Ámhgö\´x, ö£ØÓ £nzvÀ Aøµ¨ £[øP YUS AÝ¨¦QÓõº. uÁøn ÷uvUS ¬ß£õP Y Áøµ¢u ¹. 20,000UPõÚ ©õØÖa^møh X HØQÓõº. Y AuøÚ ¹. 19,800US Ámhgö\´x ¬uÀ ©õØÖa^mkUS £n® PmkQÓõº. ÷©¾® XUS ¹. 4,900® AÝ¨¤ øÁUQÓõº. CµshõÁx ©õØÖa^miß uÁønz ÷uvUS ¬ß£õP X ö{õi¨¦ |ø» G´xQÓõº. Y ¬iÁõP J¸ ¹£õ´US 50 ø£\õ ÃuzvÀ £n® ö£ÖQÓõº.

÷©ØTÔ¯ {hÁiUøPPøÍ X, Y BQ÷¯õ¶ß ¬uØ SÔ¨÷£miÀ £vÄ ö\´P.

8. From the following Receipts and Payments Account of a Club and from the information supplied, prepare an Income and Expenditure Account for the year ended 31st December 2007 and Balance sheet as on that date :

Receipts and Payments Account for the year ended 
31st Dec. 2007

	Receipts
	
	Rs.
	Payments
	Rs.

	To Balance
	
	350
	By Salaries
	1,400

	To Subscriptions :
	
	
	By General expenses
	300

	2006
	250
	
	By Electric charges
	200

	2007
	1,000
	
	By Books
	500

	2008
	200
	1,450
	By Newspapers
	400

	To Rent received 
	
	
	By Balance
	200

	  from the use of hall
	
	700
	
	

	To Profit from
	
	
	
	

	  entertainment
	
	400
	
	

	To Sale of 
	
	
	
	

	  newspapers
	
	100
	
	

	
	
	3,000
	
	3,000


(a)
The club has 50 members each paying an annual subscription of Rs. 25, subscriptions outstanding on 31st December, 2007 were Rs. 300.

(b)
On 31st December 2007 salaries outstanding amounted to Rs. 100. Salaries paid in 2007 included 
Rs. 300 for the year 2006.

(c)
On 1.1.2007, the club owned Building valued at Rs. 10,000, Furniture Rs. 1,000 and Books Rs. 1,000.

(d)
Provide depreciation on Furniture at 10%.

R÷Ç öPõkUP¨£mkÒÍ ö£ÖuÀ ö\¾zuÀ PnUS ©ØÖ® uµ¨£mkÒÍ ÂÁµ[PÎ¼¸¢x J¸ \[Pzvß i\®£º 31, 2007 ¬i¯ ÁµÄ ö\»Ä PnUøP²® A¢u ÷uv°À C¸¨¦ |ø»USÔ¨ø£²® u¯õº ö\´P.

ÁµÄ ö\»Ä PnUS i\®£º 31, 2007 Bsk ¬i¯

	ö£ÖuÀPÒ
	
	¹.
	ö\¾zuÀPÒ
	¹.

	C¸¨¦
	
	350
	\®£Í®
	1,400

	\¢uõ :
	
	
	ö£õxa ö\»ÄPÒ
	300

	2006
	250
	
	ªß\õuÚa ö\»ÄPÒ
	200

	2007
	1,000
	
	¦zuP[PÒ
	500

	2008
	200
	1,450
	ö\´vzuõÒPÒ
	400

	AøÓÁõhøP ö£ØÓx
	
	700
	C¸¨¦
	200

	©Ú©QÌ C»õ£®
	
	400
	
	

	ö\´vzuõÒ ÂØÓx
	
	100
	
	

	
	
	3,000
	
	3,000


(A)
Aa\PzvÀ 50 EÖ¨¤ÚºPÒ EÒÍÚº, u»õ 
¹. 25 Ãu® Bsk \¢uõ ö\¾zxQßÓÚº, i\®£º 31, 2007UPõÚ \¢uõ ¹. 300 ö£Ó÷Ási²ÒÍx.
(B)
i\®£º 31, 2007À \®£Í® ¹. 100 ö\¾zu ÷Ási²ÒÍx. 2007À ö\¾zv¯ \®£ÍzvÀ ¹. 300, 2006® BsiØS¶¯x.
(C)
1.1.2007 AßÖ Aa\[PzvØS Pmih® 
¹. 10,000, AøÓP»ß ¹. 1,000 ©ØÖ® ¦zuP[PÒ ¹. 1,000 ö£ØÖÒÍx. 
(D)
AøÓP»ß «x 10% ÷u´©õÚ® JxUSP.
9. X and Y started business on 1st January with capitals in the ratio of 3 : 2. Their assets and liabilities on 1st January, 2007 and 31st December 2007, were as follows :

	
	Jan. 1, 2007
	
	Dec. 31, 2007

	
	Rs.
	
	Rs.

	Cash in hand and at Bank
	4,005
	
	3,000

	Bills receivable
	2,000
	
	3,500

	Sundry debtors
	15,000
	
	25,000

	Stock-in-trade
	3,700
	
	3,800

	Fixed assets
	60,000
	
	65,400

	Creditors
	5,705
	
	6,700


The partners share profits in the ratio of 3 : 2 after charging interest on capital in the beginning at 5% p.a. and after providing for interest on drawing @ 6% p.a. Drawings on an average of 6 months are Rs. 8,000 for 
X and Rs. 6,000 for Y. Calculate profits and prepare statement of affairs at the end.

áÚÁ¶ 1À X ©ØÖ® Y 3 : 2 GÝ® C»õ£ £QºÄ ÂQuzvÀ J¸ öuõÈ¼øÚ öuõh[QÚõºPÒ. áÚÁ¶, 2007 ©ØÖ® i\®£º 31, 2007 AßøÓ¯ ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦UPÒ ¤ßÁ¸©õÖ :

	
	áÚÁ¶
1, 2007
	
	i\®£º 
31, 2007

	
	¹.
	
	¹.

	øP°¸¨¦ öµõUP® ©ØÖ® Á[Q
	4,005
	
	3,000

	ö£ÖuØS¶¯ ©õØÖa^mk
	2,000
	
	3,500

	£Ø£» PhÚõÎPÒ
	15,000
	
	25,000

	\µUQ¸¨¦
	3,700
	
	3,800

	|ø» ö\õzxUPÒ
	60,000
	
	65,400

	PhÜ¢÷uõºPÒ
	5,705
	
	6,700


öuõhUP ¬u¼ß «x BskUS 5% Ãu® Ámi PÈzu ¤ß¦®, BskUS 6% Gk¨¦ «x Ámi ÷\ºzu ¤ß¦® EÒÍ C»õ£zøu TmhõÎPÒ 3 : 2 GÝ® ÂQuzvÀ £Qº¢uÚº. 6 ©õu[PÎß \µõ\¶ Gk¨¦ ¹. 8,000 X&® ¹. 6,000 Y&® BS®. Bsk CÖv°À C»õ£zøu PnUQmk |ø» AÔUøP u¯õº ö\´P.

10. A fire occurred in the premises of a trader on 
10th October 2005. All stocks were destroyed except to the extent of Rs. 5,000. From the following figures, ascertain the loss suffered by the trader :

	
	Rs.

	Stocks on 1st January 2004
	36,000

	Purchases less returns (during 2004)
	1,45,000

	Sales less returns (during 2004)
	2,00,000

	Stock on 31st Dec. 2004
	22,500

	Purchases less returns during 2005 
  upto the date of fire
	
1,46,000

	Sales less returns during 2005 
 upto the date of fire
	
1,89,000


It was the practice of the firm to value stock cost less 10%.

Early in 2005, prices were raised by 5%.

AU÷hõ£º 10, 2005 AßÖ J¸ Â¯õ£õ¶°ß ÁÍõPzvÀ w Â£zx |PÌ¢ux. ¹. 5,000 ©v¨¦ÒÍ \µUSPÒ uÁ¶ AøÚzx \µUSPÐ® {õ\©õ°Ú. RÌUPõq® Â£µ[PøÍU öPõsk AÆÂ¯õ£õ¶ Aøh¢u CÇ¨ø£ PnUQkP.

	
	¹.

	áÚÁ¶ 1, 2004 AßøÓ¯ \µUQ¸¨¦
	36,000

	öPõÒ¬uÀ PÈzuÀ v¸¨£® (2004À)
	1,45,000

	ÂØ£øÚ PÈzuÀ v¸¨£® (2004À)
	2,00,000

	i\®£º 31, 2004À \µUQ¸¨¦
	22,500

	öPõÒ¬uÀ PÈzuÀ v¸¨£® 2005&À 
  w Â£zx {õÒ Áøµ
	
1,46,000

	ÂØ£øÚ PÈzuÀ 2005&À 
  w Â£zx {õÒ Áøµ 
	
1,89,000


\µUQ¸¨ø£ AhUPÂø»°À 10% PÈzx ©v¨¥k ö\´²® ÁÇUPzøu öPõskÒÍx. 2005 öuõhUPzvÀ Âø»PÒ 5% E¯º¢ux.

11.  A company had bought machinery for Rs. 2,00,000 including boiler worth Rs. 20,000. The machinery account had been credited for depreciation on the reducing instalment system for the past four years at the rate of 10%. During the fifth year i.e., the present year, the boiler become useless on account of damage to some of its vital parts. The damaged boiler is sold for Rs. 4,000. Write up the machinery account.

J¸ |Ö©® ¹. 2,00,000 ©v¨¦øh¯ C¯¢vµzøu 
¹. 20,000® ©v¨¦øh¯ öPõvP»Ý® ÷\ºzx öPõÒ¬uÀ ö\´ux. Ph¢u {õßS BskPÍõP ÷u´©õÚ® BskUS 10% Ãu® SøÓ¢x ö\À C¸¨¦ ¬øÓ°À ÁµÄ øÁUP¨ £mhx. I¢uõÁx BsiÀ AuõÁx {h¨¦ BsiÀ öPõvP»Ûß ¬UQ¯ £õP® £Êuøh¢uuõÀ £¯ÚØÓuõQ Âmhx. ÷\u©øh¢u öPõvP»ß ¹. 4,000US ÂØP¨£mhx. C¯¢vµU PnUøP u¯õº ö\´P.

12. From the following particulars, prepare Branch Account showing the profit or loss of the branch :

	
	Rs.

	Opening stock at the branch
	30,000

	Goods sent to branch
	90,000

	Sales (cash)
	1,20,000

	Expenses :
	

	     Salaries
	10,000

	     Other expenses
	4,000


Closing stock could not be ascertained but it is known that the branch usually sells at cost plus 20%. The Branch Manager is entitled to a commission of 5% on the profit of the Branch before a charging such commission.

RÌUPõq® ÂÁµ[PÎ¼¸¢x, QøÍ°ß C»õ£® AÀ»x {mhzøu Põmk® QøÍU PnUøP u¯õº ö\´P.

	
	¹.

	QøÍ°ß öuõhUP \µUQ¸¨¦
	30,000

	QøÍUS AÝ¨¤¯ \µUS
	90,000

	ÂØ£øÚ (öµõUP®)
	1,20,000

	ö\»ÄPÒ :
	

	     \®£Í®
	10,000

	     Cuµ ö\»ÄPÀ
	4,000


CÖva \µUS ©v¨¤h ¬i¯ÂÀø», BÚõÀ QøÍ ö£¸®£õ¾® AhUP Âø»÷¯õk 20% ÷\ºzx ÂØ£øÚ ö\´QÓx. QøÍ ÷©»õÍ¶ß PÈÄ A¢u PÈøÁ PÈ¨£uØS ¬¢v¯ C»õ£zvÀ 5% BS®.

——————
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